FOREFRO1=-TF7IILIBFE HER

Fk29%E 4 A30R WAEHU FI—H 3T
[BF15m~17mdDEF] /(—72 7,00777— K

JNEfiZ K e iF |OUT
25 13 & % (EARES -2) | 75| 37
2 | HF B X (EARES-2)| 76| 36
3 |18 # E (EARES -2) | 78| 39
4 Wb & HF (EARES-3) | 80| 38
5 |5 I #® 3 (BEARES-1) | 81| 39
6 XK H #H A (EBFES-2) | 82| 43
7 XK H & 2 (MBFES-1) | 83| 42
8 B # & Z (EARES-2)| 83| 40
O |[H W # (EARES 1) | 83| 40
10E B R KX (EARES-3) | 84| 43
ik N w8 (EARES-3) | 84| 42

}

—
N
=
|
i
o
i
H_

(EAKRES -3) | 8| 42

13|ER %M (EAXS - 3)| 8| 43
14 EBEEBE(GEAM S - 3)| 8| 42
15 (% wm B (EARES -3) | 91| 48
16 lILA M =B (EARES -1) | 93| 48

# K (MEFES - 1) | 93| 45

18 | K # 8 — (EARES-2) | 94| 46
OIFERXR X (EBHS - 2)| 9| 45
20 (B W B s} (B FES-3) | 98| 46
21|15 A I X (E® & - 3)[103] 49
22 | K # & N (EARES -1) | 104 56
23|18 B £ — (LgaF¥FEs-3) 111 | 51
BEE L2 & 7 (BHBEES - 2)




[S55F 125w~ 14mD5ER]

J\=72 6,6551"— K

[I=Eivi K & iF [OUT| IN
BEE L = X (BEHPZER-2) | 78| 37 41
2 |tk & B N (EAEREH -3) | 82| 42 40
3 (B 2 Bt (EAERESH -3)| 8| 44 41
4 [ H & X B (Il £ = 1) | 85| 43 42
5 |8 & i BB (L B 1) | 88| 45 43
6 (b £ & 8 (B & & 2) | 88| 45 43
7 I BE X EF (I £ = 1) 88 | 44 44
8 |/ E A (EAREHR - 1) 88 | 44 44
9O (b B BN (L B & 3)| 89| 44 45
10 B 8 = i (K ¥ & 3)| 91| 46 45
11 [/ = B (KAREDH -3) | 92| 39 53
12 |8 Il & K (R¥EFMEIPHP-2) | 93| 50 43
13 [#8 % RO(k m A 3) | 94| 48 46
14 |/ B FE B (EAREHR - 3) 96 | 52 44
15 [k & M F (EAKREH -1) | 100| 53 47
16 BB 7 = th (& % 3) | 100 | 46 54
17 H = h (s E®H - 1)|101| 51 50
BiE(X H 2 (MWE®EP - 3)




[4zF 15~ 17m%D%ER]

J\=72 5,9377— K

JNE4sz K e G OuT|] IN
BEE B B2 R (KARES-3) | 72| 37 35
2 E OB ZE (EARES -2) | 79| 42 37
3 pap B B K (RHFITES-2) | 79| 40 39
4 (K& E @R (BAEflRES - 2)]| 8| 42 38
5 !vE OKE (KMBFES-1) | 80| 38 42
6 | B & (EARES -3) | 81| 43 38
7 i B B (EAKRES -3) | 81| 39 42
8 B | #® (EARES-3)| 82| 45 37
O B B u R (RBRKWEH=E-2) | 82| 41 41
10/ & ¥ 8 (EARES-1) | 83| 44 39
1M\ H E ¥ (MBFES-2)| 83| 42 41
12 |8 # B H (EARES-1)| 84| 44 40
13| @ 8 %&£ (EARES-2) | 84| 41 43
1“4 H X#HE (EARES-1) | 9| 42 48
15/ H&F Kk (EARES-1) | 94| 46 48
[ZF12im~14mdDE] /(—72 5,93777— kK

1iva K % i |[OUT| IN
B KRE AR (IARBHR -3)| 73| 36 37
2 BB XX (MHmd - 3) | 77| 41 36
3 (h # s (BHRH - 2)| 77| 39 38
4 K M S B (Mmspmd - 1) | 80| 42 38
5 (F B 8B 1€ (B % 3)| 84| 42 42
6 (8 K 7 A4 (FHZFERH -1) | 92| 48 44
7 B OF R (EAREHR -3) | 92| 44 48
8 '’ ¥ W & (EAREHR-3)| 92| 44 48
O /\hE E R (EAREHR -1) | 93| 42 51
10 R & ¥ B2 (EAREHR-3) | 94| 46 48
nNiFAHEKXRSE (EAREHR -3) | 9| 54 42
RBINxE«2B (BHEmEEH -1) | 9| 46 50
BRXE =E 1 (BEAREHR -2) | 97| 48 49
M“MIFHERT (EAREH -1) | 107 57 50
15K 5 X B (REFMEHH-1) | 113 | 54 59
16 ) B ¥ 8 (& Il A 2) 129 | 58 71




UNFEESEFDER]

J\—=72 5,805{"— K

NIEAZ K % i |OUT| IN
B (AT * (BHRPE/N-6) | 77 39 38
2 |fiE A A (HF M 6) | 82 43 39
3 |K 4B — (& @8 /h 4) | 91 43 48
4 | kb | B (KEB/WN-6)|97 43 54
5 |& = 2 (/K B /M 5) [103 | 54 49
6 | % (B o 5) [108 | 58 50
7 5 Kk IR OBE (LW/AWE/N-6) 121 | 62 59
8 |IB 15 v (ne H# /) 6) [130 | 67 63
9 BRO(E B /N 4) |132 | 64 68
UhE&ELFDE] /(—72 5,80577—R

=12 K & i |OUT| IN
BEs|K ZE ¥ = (o L/ - 5) (100 | 48 52
2 | B X B (ER¥FhmEN-4) [107 | 52 55
3 H &F @ (JEEZ/N-4) 130 | 66 64
4 1K ZFE HB R (L @ /N 6) |135 | 66 69
5 1 E®H o #® (mE&@m/D-4) (162 89 73




